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Section A: {30 x 2Zmarks = 60marks}

For each question from 1 to 30, four options are given. One of them is the correct
answer. Make your choice (1, 2, 3 or 4). Shade the correct oval (1,2, 3 or 4) on the

Optical Answer Sheet.

1. Look at the classification chart below.

" Things
o

Living Things . .| .| - Non-fiving Things

Made from things that
was once alive

Made from things
that was never alive

Which of these objects cannot be classified as ‘Made from things that was once

alive’?

{1) Paper bag
(2) ‘Rubber mat
(3} Leather beit

(4) Ceramic cup

2. Susan asks the following questions about an animal.

Does it have wings?

How many legs does it have?

What food does it eat?

olo|m| >

How many body parts does it have?

Which of these questions, A, B, C andfor D will definitely help her to find out if

the animal is an insect?

(1} Aand Conly
(2} Band D only
(3) A, Band D only
(4) B, C and D only
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3. One morning, Mr Lim was standing in front of the window, admiring the view of
fall buildings.

The diagram below shows the office window with one of its.parts marked.X.

Mr Lim

Which one of the following correctly shows what part X is made of and the
reason for the material fo be used?

(1) T é;ass It breuaks easily.

(2) Plastic i can bend.

(3) Glass _ it atlows light to pass through.
(4) Plastic It absorbs water.
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4. Susan observed some leaves and grouped them according to her observation.
The classification chart below shows the observation Susan has made on some

Jeaves.

Leaves of Plants
E |

l

|

" Toothed edge o 7 'Smooth edge

|

Heart—sha;’ziéd

Oval-shaped Heart-shaped

Oval-shaped

™
A

| T ]
B _ c

Which-of the following represents Leaf B and Leaf D?

(1)

(2)

(3)

(4)
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5. Which of these plants can be pulied out from the soil most easily?

(1)

(3)

6. Which one of the following does not correctly show the paris that make up the’

system stated?

(2)

(4)

(1) | Skeletal ) Skull, ribcage, backboné

(2} Circulatory Lungs, blood vessels, blood

(3} Digestive Mouth, gullet, small intestine, large intestine
(4) Respiratory Nose, wind pipe, ungs




7. The diagram below shows a plant growing in the garden.

Which of the following statement{s) isfare correct?

A | Thisplanthaszwelik stem.

B | This pléﬁt isa ﬁo_Wering plant.

C | This plant reproduces from spores.

(1) B only
(2) C only

(3)A and B only
{(4) B and C only

8. How are the following objects grouped in the table below?

Group X G_roup Y
iron nails eraser
paper clips tissue paper
thumbtacks ceramic cup
| GroupX Group.Y
1) hard soft
(2) magnetic non-magnetic
(3) flexible non-flexible
(4) waterproof non-waterproof




9.

in which part of the digestive system is the digested food absorbed through the
walls and into :he,b_lgpd to be carried around the body?

(1 A
(2) B
3 C
4 D

10. Which one of the following organs does the skull proteets?

(1) Ears
(2) Nose
(3) Eyes
(4) Brain
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11.

Jane wanted to remove the jron nail fiom the beaker of water. She-was-abledo
do so by siiiply placing the bar at the outer surface of the glass beaket where
theriron fail wasSHa slowly fioyed the bar towards the mouth of.the-beaker.and
observed that the iren nail inoved-with the bar. S

Wailer

Glass beaker

Iron nail

What does the above experiment show?

The bar is a magnet.

The iron nail has become a permanent magnet.

Magnetic force can pass through glass only..

c|Oom| >

Magnetic force can pass through glass and water.

(1) Aand D only
(2) A and B only
(3) B and C only
(4) BandDonly




12. Barney stroke Object X with a magnet as shown below.

After repeatedly stroking. Object X, it wé_'s;.al_;a:!é to attract some paper clips.

Based on the above experiment, which:grigof the following staterments is
true? o

(1) ©bjeet X is magnetised.
(2) Object X is most likely to be' made of copper.
(3) The magnet lost its rmhagnetism when it was used to stroke Object X.

(4) The more times Object X was stroked, the less number of paper clips it
could attract.
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13. Bobby wants to carry out an.experiment o show that living things need food

to survive. In one set-up; he piaéed 18R Truit fiies in a jar as shown below.

 Which one of the following set-ups should he include so that he can reach &
conclusion for his experiment?

(1 (2)

&

*‘)-\]
&
> S
=8
—)
@

(3)@ (4) holes
B




14. Sarah notices that the swordtail fish she has bought are swimming near the.

e e ¥ o

sUrfaee ofthe watenn thes tank.

Which of the foliowing changes may solve the problem?

(1) -Adding-some salt into the tank.
(2) Adding more fish into the tank.
(3) Adding more sand intoc the tank.
~ (4) Adding an air pump to increase the amount of air in the tank.

10
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15. Ken puts ten guppies in a fish tank and feeds them every day. He does not
add-any more guppies.inte the:tank. The:graph. below.shews:how-the
number of guppies in the fish tank: gnaugggoxen the next.fewmonths..

Number.of guppies
F

25
20 -

15

10

T 1 e |.. A > MOﬂth
Jan Feb Mar Apr May

The graph shows that living things

(1) grow

{2} reproduce

(3) respond to changes

(4) need air, food and water to survive

11




16. Study the pictures of Plant A and Plant B as shown below.

17.

Plant B

Why do the plants grow upwards?

(1) To reach for sunlight.
(2) To store food in the stem.
{3) To make food in the roots.

(4) To take in water and mineraf salts from the ground. |

The classification table below shows how some plants are grouped.

Plants
_ i
[ ]
Group A Group B
| |
Rose Pine tree
Hibiscus Stag’s hom femn
Water Hyacinth z

The plants in Group A and Group B are classified according to whether they
are flowéring or non-flowering plants respectively.
Which one of the following could Z be?

(1) Moss
{2) Ginger
(3) Orchid
{4) Sunflower

12 7.



18. Loek-atihe classification-chart below:

“Animals |

Birds_ Mammals
“Can fiy. . Cannctfly . Gendiy |-+ Cannot fly
| “ Y ¥
B C D

Which one of the following shows the animals correctly classified as A, B, C

and D?

(H Swallow- f;en.g.;uin | Squirrel Horse

(2) | Kingfisher Emu Bat Cow

(3) Eagle Parrot Bat Penguin
4 Bat Kiwi Fox Spiny anteater

13




19. A trampoline is made of a piece of fabric stretched over a steel frame, with
many coiled spring connecting the-fabric-totheframe.

Whtch one of-the following correaﬂy -shows the prﬂperty of the material chosen
to make the fabric and steel frame?

1) Siff Hard
2 Flexible | Magnetic
(3) Elastic Strong
(4) Strong Hard

20. Which of the following properties of glass is/are suitable for making

aquariums?
A iitishard.
B | itis flexible.
C i Itis waterproof
D " It allows light to pass through.
(1) A only

(2) Band D only
(3) A, C and D only
(4) A,B,CandD

14



21. The picture below shows a bicycle.

What are. the properties of rubber that make it suitable for making part M of
the bieycle tyres?

A | ltis strong.

v}

It is=ﬂexible._

C | It sinks easily in water.

(1) A and B only
(2) Band Conly
(3) Aand C only
{4) A,Band C

15




22. Look at the diagram below.

foliowing fungtiong-canrintbe carriedgdt by the plant in the

(3) Reaching for water in the soil.
{4) Transporting food, water and dissolved mineral sal'gs.

23. The diagram below shows a rose plant.

" Which one of the parts shown above W, X, Y or Z supporis the leaves and
carries the food made by the leaves to the rest of the plant?

OB
2) X
@Y
@) Z

16 /23



24. Which one of the following are stems that store food for the plant?

(Al (B)

Carrot

Q.o ()

Asparagus Sweet potato

{1) Aand D only
(2) Band G only
(3) Aand C only
(4) B and D only

25. Selena stretches out her arms to catch a ball as shown below.

Which of the following systems have to work closely together to enable her to
stretch her arms to catch the bail?

(1) Skeletal system and muscular system

(2) Digestive system and circulatory system

{3) Digestive system and respiratory system

{(4) Respiratory system and circulatory system

17




26.

The diagram below shows the human digestive system.

in which part, A, B, C or D, is digestion completed?

WA
(2 B
@) C
# D

18
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27. When we drink a cup of plain water, what will happen to itin the digestive
system? Which:of the following statement(s) isfafe cofrect?

A | Thewafer will-be abserbed. in the large intestine.

i . | 'saivawilBepradicedto break down the Water.

C | Digestion of Watér oecurs. in the stomach and small intestine.

(1) Aonly
(2)-Aand € oply
(3) B.and C ohly
(4) A,Band C

19




28.

Clarice set up the apparatus .as.shown below.

She noted that when she p@@gaggﬁerentrmateralsz of similar.thickness
between the bar magnet.and the ‘paper dip, the paper.clip-remained-floating in
the air. ' : -

- paper. dlip

string

Which of the foliawiﬁg materials would allow the papef 6!ip to remain
fleating in the air?

A. lron B. Plastic | C.Woed D. Glass E. Steel

(1) Aand Eonly
(2) Band D only
(3) B, Cand D only
(4) C,Dand E only

20
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29. Study the arrangements of 3 bar magnets as shown below.
Which arrangement is.correct?

OF & I — @ 5]

3 : 4) IN

21




30.

The entire length of a bar magnet is lowered into a dish of staples. Whenitis
lifted away from the dish, the bar magnet has staples stuck on it as shown
below. S

A | A magnet attracts magnetic materials.

B | The aftraction of a magnet is 'strongest at its poles.

C | Unlike poles of two magnets attract and like poles repel.

D A magnet, when free to move, will always come to rest in the North-South
direction.

{1} A and B only
(2) CandDonly
(3) A,Band C only
(4) A,B,Cand D

22
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Section B (40 marks)
Wirite. your answers to questlons 31 to 44 in the spaces provided. The marks-
avaiiable is shown in brackets .-at*the end of each question or part question.

31.  Study the diagram belowearsfily:

‘ 'Fang_i growing on a dead log

(@)  Listiwo things that are necessary for thiefuigito stay aliveX. (1]

(b)  Give one reason why fungiis not a plant. i1

(c) Based on the diagram above, how do fungi get nutrients for its growth? 2}

23 Score 4




32.  The swimming goggles shown in the diagram below is made of two different
materials.

(a)

Metal Rubber Wood Plastic

Based on the fable provided above, name the most suitable materials that can
be used to make part X and Y of the swimiming goggles. Write your answer in
the blanks provided below. Each material can crily tie uséd once.

Part X: {1]

Part Y: (1l

(b}  For Part Y, give one characteristic of the material stated in part (a) that
makes it a preferred choice in making the swimming goggles compared to

glass.

(1

24
Score 3
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33. Look at the diagram of the bird’s nest fern below.

brown dust on
underside of leaves

Bird’s nest fern

(a) Based on the diagram above, why- do yeu not see flowers in this plant?  [1]

' (b') Bﬁgdem.ihe..;li'_agram above, what is the brown dusi found on the underside

of the leaves of the bird’s nest fern? {1]
(c)  Whatis the function of this brown dust? (1l
25
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34. The following processes A, B, C and D take place in the various parts of the
digestive system.

A Fogd is digested-'and apg.agige_d into the bloed stream.

B | Saliva is produced to break-down the food.

¢ | Partially digested food is pushed down the tube.

Dy ﬁd?gééféd' food'is stored tiete to be passed out.

{a) | Arrange the pr@eeé-ses A, B; C and D according to the order that each takes
plage in.the diffefent pars. of the. d_iggs;iye;syatem;

Write the letfers A, B, G and D in the correct boxes below. 21
Food Waste
enters the - > . ,| matteris
mouth _ passed out

(b) Besides the mouth, name the other two parts of the digestive system where
digestive juices are produced.
: 2

26 Score A
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35.

Ring-magnet A

(@)

(b),

Ring‘.magnét:B 1V = —
. _,_._......-— - - - (a“)-'

Ring magnet A ‘floats’ above Ring magnet B as shown in the diagram below.

: (ar) - l.

I thezdiamram alsove, ety the southipe

Ot S

. ify i st ppisiand themorth pole-of Ring
magret B.by putting “S-pele” and “N-pole” in the boxes provided.

Based on the diagram-above; explain why Ring- magnét A‘;ﬂ‘b'éts’. above
Ring magnet B.

(1]

2]

27 ,
Score




36.

Study the flow chart and complete the table below.

Yes .

S ‘ .
> - Lay eggs? = es =®

_Has scales?

— Live orland 2. =

. 4

Yes

Eo b

Based on the above informiation, write the appropriate letters (A, B, C, Dias’é)
that could represent the following animals in the table below. [41

Snail

Guppy

Pigeon

) | Whale

28

Score 4
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37.

(=)

(®)

Tania was studying 4 guppies in a fish tank. She wanted to find out if the
amount of fish food would affect the reproduction rate of the auppies. .
The table below gives information on the variables given over a penod of 4

mionths.

e e  January | Februany f-!areh - April
;roﬁj% of fish Type A _ TypeB . Type C Type D
ﬁlﬁount;.of fish h .
food.daily. 29 49 69 8g
Amount of . . o
weter 2 litres 2 litres 2 litres 2 litres

heﬁcew:m’e b‘a*rrgraphml@wio show-the number of gappies found in the

“tank from the monthis of January to April.

12
No. of 10

8
guppies

4

Jan

Feb

Mar

Apr

» Month

Assume that there was an equal increase in the number of guppies every

month, draw the bar for the month of Aprit in the bar graph above.

Do you think this is a fair test? Give a reason for your answer.

3!

[t

29
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38. Jerry wanted to find out which material makes a good hand towel that dries

wet hands well. ,
Four different materials of the same. thickness, size and.shape.were-used-and-

the experiment was set up as shown-below.

String

Caloured
water

Plastic
conthiner

Péle

After 3 minutes, he measured the height of the water whichhad risen on the
towels respectively. The results are shown-in the table below.

Material {Height in which the water rose {cm)
W 15
X 5
Y 1
z 3

(a) Which material (W, X, Y or Z) would be the best material to make a hand
towel?

{1

(b} Explain why you have chosen the material in (a). 111

30 Score 2
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39.  The diagram below shows the roots of three different plants.

(3)  Which plant has roots that hold it mest firmly o the ground?

iy

(b)  Give areason for your answer in (a).

(1l

(c) Give another function of roots.

]

31

Score




-40.

The diagram below shows a sweet potato plant and a balsam plant

respeciively.

Sweet potato. plant

e

(a)

{b)

Name the part of the plant labelled X" (11
State the usefulness of part ‘X’ that is not found in part Y? 1]
32 Score 2

7’/



41.

The diagram below shows some internal organs of the digestive system.

(a)

(b)

Identify. all the organs in the diagram. [2]
Name the following organs. [2]
A
B

{1]

Which organ A or B belongs to the respiratory system?

33
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43.

Classify all the 6 objects given in the box correctly into the classification table

below:. 31
Sitver chain Ceraimic plate. Seld; coin
Copper wire " Fonmnail StSarier
'+ Objects
Metals Non-mmetals
L | |
Magnetic Non-Magnetic
34 Score 3

/232



()

(b)

Diana magnetised a needle by stroking its- length in one direction with one
pole.of a. magnet-for about iwenty-times. She then pushed a piece-of cork-into
it and. allowed it to.float.in.a plate.of water as.shown-below..She.claimed.that..
she has made a temporary magnet. :

paper plate

wafer

neecdle

Based on the diagram above, in which direction would the needle come |
fo rest if Diana has made a temporary magnet? : [1

Seeing her experiment, Diana’s sister said that she has made an instrument
that can. help them find directions.
Name the instrument Diana had made. 1

End of Paper

35
Score 2




Answer

EXAM PAPER 2012

SCHOOL : NAN HUA
SUBJECT : PRIMARY 3 SCIENCE

TERM : SA2

Q1 [ Q2] Q3[4 05[ 05 Q7 [ 08 [Q9[Qi0[Q1i]Q12]Q13[Q14]Qi5]Ql6

4 2 3 4 4 2 3 2 3 4 1 1 2 4 2 1

Q17
1

Q181Q19| 0201 Q21 | 022 | Q23 | Q24| Q25 | Q26 | Q27 | Q28 | Q29 | Q30
2 3 3 1 1 3 2 1 3 1 3

31)a)It needs air and water to stay alive.

b)Fungi is not a plant because it does not make food while a plant makes
food. )

c)It feeds on the dead log.

32)a)X: Rubber Y: Plastic
b)Plastic is lighter compared to glass therefore plastic makes it a preferred
in making the swimming goggles compared to glass.

33)a)Because it is a non-flowering plant.
b)The brown dust are spores.
c)The brown dust helps the bird’s nest fern to reproduce.

34)a)B>C>A->D
b)They are stomach and small intestine.

35)a)i)N-pole ii}s-pole

b)Because when Jike poles meet, they will repel and therefore Ring magnet
A ‘floats” above Ring magnet B.

page1to 2 . page 1

X


Answer Key


36)A F C D

37)a)braw Apr to 10
b)No, because she used different type fish feed. -

38)a)Material W would be the best material to make a hand towel.
b)Because it absorb more than any other materials.

39)a)Plants C.
b)There is greatest number of roots that spread over a widest area.
c)Roots also take in water and mineral salts for the plant.

40)a) X’ is a root.
b)’X’ stores food for the plant while ‘Y’ do not store food for the plant,

41}i)gullet ii)stomach iii)small intestine iv)anus

42)a)A: lungs B: heart
b)Organ A belongs to the respiratory system. .

43)Magnetic : Iron nail, Steel ruler
Non-magnetic: Gold coin, Silver chain, Copper wire
Non-metals: Ceramic plate

44)a)It would rest in a North-south direction.
b)It is a compass.
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